2005H492l8

=x o 2005 92 8 Z9c X=34"55'54.213" FEEE $23'04'56.027"E

S| A2 & 11Al 092 I Y=127"05'11.282" L= 49'50'8.283"
e 25.7°C 1= 67% B SE
24z 0 Jlgt 1012hPa == 1.9m/s

o | 1A JEHEOI B SR AIHOI £ PEO| 242 AOH BIEH0I T4 2L UIHIZ 2 LM

T | paS |ESESD 2=SXNO2 B2 T2 T US

Q
Q
=
o]
Yy
O
[0}
=
o
o

900 1100 1300 1500 1700 1900 2100 2300 2500
Wavelength(nm)

200541012
=x o 2005108 12 AT X=34"55'54.213" EHeere $30"08'46.683"E
=0 A2 Q& 10Al 372 X Y=127"05'11.282" gD 44'09'11.974"
e 24.6C = 67% =35t -
A5 0 J|gt 1013hPa == om/s
JlA | RE B E e HYE MEEQ JI2 UM
=2 a2 |ZSstn 2202 RS 22 P00 JASH 5= 3552

Reflectance

\.f'f\\l\"

|'4 v

1100 1300 1500 1700 1900 2100 2300 2500
Wavelength(nm)






